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2.4 BRI
2.4.1 SIS
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] A RS T 4 2

BEAAKAN x, HBRA 4, A= x,

R i A

5 AA = (x, + Ax)’ - x;
= 2x, - Ax + (Ax)".
(D) (2)

516 - IETT e R 2 7Aa ol K M 3l x, + Ax,
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B, R y = X ER X R EER
NAKET, REBHFIHRE Ay.
Ay = (x, + Ax)® — xg'

=3x; - Ax+3x, - (Ax)* + (4Ax)’.
1) (2)

S AR/, )R AHIEM TG 5/ o(Ax),
s Ay = 3x2 - Av— BEE B R BT R A

BlRE : EANEIER L (AR ENEES D) &2
ifﬁﬁﬂ%ﬁﬂ‘]&@éﬁ a2 e A ?
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2. TharHIE X

BN . Wy = f(x) BR xIESHAFTEX ,

&M NIESRIERTA

Ay = f(x, +4Ax) - f(x)) = AAx + 0(Ax)

—

TAx K%

(A A

MUEREERL ) = £ (x)7E & x, GbATE, A - AERIEE

y= f(x)ER x, LD, iciEdy
on = A Ax.

W dyM R BUE R AvHI L1
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x=x0
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2 df (x,),
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E: RN
(1) Ay — dy = o(Ax) B L AT I, (X Ax — 0)3
(2) 24 = Ol, dy 5 ARBFMTIS U (Ax — 0)

A
A o4

: — >»1 (Ax — 0).
dy A- Ax ( )

(3) H{ARING, Ay ~ dy  (IEEED).
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3. ARG

EE R f(O)FER x, U TR ER R
%f[f(x)ff)f—i xoﬁtﬁf-@, H A= f'(xo )

MERA (1) BEH: - f(x)FERx, T,

Ay
SAy=A-Ax+o0(Ax), . .——=A+
y 0(Ax)

o(Ax)
Ax 9

M tim 2 = 4+ 1im 249 - 4.

-0 Ax >0 Ax

BB f ()T x, TR, HA= f'(x,).
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(2) FRE - BB ()FE KX, A S,

A
llm;y— f (X9)s ED%= f'(x0)+a9

M Ay = f'(x,) - Ax+a - (Ax), “a >0 (Ax > 0),
= f'(xo)'Ax+0(Ax)9
R f(OERx, AWM, Hf'(x,)=A.

SRS A= fl(x,).

1l By = f(O)EER R B, FRAREK
War, efE dysldf(x), Bl dy = f'(x)Ax.
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2 HFPTEEZRE xHINEE AR A B ZRER T,
WCrEdx, Bldx = Ax.

sody = f'(x)dx. mmm) %= f'(x).
HI BRI 00 71 dy 5 B R BRI dxZ ST
ZRBH 2. 2B "

1 KRB y=x> Fx=2, Ax = 0.025 15457
B cdy=(x)Ax =3x"Ax.
cody = 3x’Ax . = 0.24.

x=2 xX=
Ax=0.02 Ax=0.02

F Ay =(2+0.02)° —2° =0.242408 = dy = 0.24
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UPIAE F=
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2.4.2 « WOMEBRENEERAN
dy = f'(x)dx
Kz WHEBEBHSH, FRUHRERMT .

1. ZEAAIF R BT 2~ 3

d(C)=0 d(x*) = " dx
d(sin x) = cos xdx d(cos x) = —sin xdx
d(tan x) = sec’ xdx d(cot x) = —csc” xdx

d(sec x) =secxtan xdx d(cscx)=—cscxcotxdx
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da*)=a" Inadx de*)=e"dx

d(log,6 x) = 1 dx d(In x) = ldx
xIna X
d(arcsinx) = ! dx d(arccosx)=-— 1 dx
1-x’ J1-x?
1 1
d(arctanx) = —dx d(arc cotx) =— —dx
1+ x 1+ x
2. REA. £, R, HRBSEN
d(uxtv)=duzxdy d(Cu) = Cdu
d d
d(uv) = vdu + udy ac b W
2
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3. EARBBNSZEN - —mM B9 ERANATH
W y = f()BFH f'(x),
(1) BExREZER, dy= f'(x)dx;
(2) HxRFHZRERN, B R—2& (WA
MR x =), W dy= f'(x)p'(t)dt
Cdt=dx, - dy= f'(x)dx.
Git: T xREATEERFEZE, B
y=fOORIMAITERER [ dy= f/(x)dx
_— N\
WM TE R AZE
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B2 & y= ln(x+ex2 ) Ekdy‘ x=0

, 1+ 2xe” 1+ 2xe™
& - y = IR dy‘ 0 = xez dx‘ ) = dx|
XtTe : x+e®
. d(x+e ) 1+ 2xe*
%ﬁ* dy‘ =0 — 2 ‘x=0= xez dX‘ =0 — dx|

x+e” x+e”

B3 B y=e'" cosx,Kdy.
B dy=cosx-d(e' " )+e' " -d(cos x)

=cosx-e “d1-3x)+e' "

1-3x

+ (—sin x)dx

1-3x

Sdy=cosx-(-3e " )dx+e - (—sin x)dx

= —e'* (3 cos x + sin x)dx.
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Bla & y=f(n(x*+1), MAIS, Mdy=( p

A dy= f'(In(x’ +1))dx

B dy= f'(In(x’ +1))dIn(x* +1)

C dy= f'(In(x* +1)) 21 dx
x +1
, , 1 1
D dy=f'(In(x"+1))———d—;
x +1 x"+1
, , 2x
dy= f'(In(x" +1))———dx
x +1

)
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fl5 FETHNERERMFBESHFENEHIRRE,
SR RAL
) d( )=cosatdt; (2)d(sinx?)=( )dHx).

B (1) d(sinot) = o coswtdt,

1
s cosatdt = —d(sinwt) = al(l sin @t );

1 Y @
. d(—sinwt + C) = coswtdt.
@
_d(sinx®) 2xcosx’dx

2) - =
* dxy 1

2/ x
< d(sin x?) = (4x«/§/;)s x))d( x).
¥ WERtBERAER sin x 2NV X BISEL

2
=4x+/Xxcosx”,
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# 6 1&ysinx—cos(x—y)=0,3Kdy.

dy=y'dx SRH dy.

E ZRERREHENRBERNWS , iR

Ty WBIER y S8 , RS FAR:

AR

2). FHAMDERRAZRRNE , AT .
#: MH—e AR ,F
d(ysinx)—d(cos(x—y))=0

sin x dy + y cos xdx + sin(x — y)(dx —dy) =0

ycos x +sin(x — y)

dy =— .
sin(x — y)—sin x

dx
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1. BEFEHSHIBESRITEX

2. PASREY

B 7R

3. SRR E S )

B 2.4
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243 RaERGTEPRIMA
1 FREBEERIME .
5y = f(xX)ERx ARS8 (x,) = 0,H
AXR/NES, Ay, =dy| ., = f'(x,)- Ax.

il 1 EE210ERPEBEFINRG, XE2HKT
0.05E K, [AEfRARKNIZK TS ?
B WA=m’, r=10EXK, Ar=0.05EX.

' AA=~dA=2mr - Ar=21 x10x0.05
=7 (BE>K?).

Ll
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2\ HEEABREME
1.3Kf (x)ERx = x M eME ;
Ay = f(xy+Ax)— f(x,) = f'(x,)- Ax.
f(xy+A) = f(x,)+ f'(x,)- Ax. (|Ax[AR/NET)
Gl1  THHE cos60°30'HITLHE.

ﬂ wf(x)=cosx, .. f'(x)=-sinx, (x99
T T
Xy = =—,
3 360
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7. 1 , T 3
f(?) = P J (?) = _§°
o2 fy T T
. €0s60°30" = cos(3 + 360)“ cosg—sing . 37;0
= %- *ZE . 3’;0 ~ 0.4924.
23RS (x)FE Rix = OFFHIE I fUME s
2 x, =0,4Ax = x.

v f(xy+A) = f(x,)+ (%)) Ax,
S f(x) = f(0)+ f7(0)- x.
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BRIEMAR (xR
O+ x=1+=x  @)siny s x (KIE)
(3) tanx = x (xAHINE); (@) e* =1+ x;
S)In(1+x) = x.

A () B f(x)=V1+x, f'(x)= %(1 + x);_]’

1
fO)=1, f'(0)=—.

n

s f(x) = F0)+ F'(0)x =1+%.
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B2  FETHEEHTUE.
(1)3/998.5;  (2) e ™.

B 1) Y9985 =31000-1.5

1.5
=3/1000(1 ——2) _ 1a3/1 _
\/ ( 1000)_1W1 0.0015

~10(1 — % x 0.0015) = 9.995.

(2) e* =1-10.03=0.97.
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